

- $5 - (5 : 1) =$
- $76 : 4 - 1 + 2 =$
- $45 : 15 + 45 : 3 - 5 =$
- $3 + [4 + 3 \times 2] - 1 =$
- $5 - (4 - (4 - 2)) =$
- $3 - (3 - 0) =$
- $44 + 43 - 1 =$
- $88 + 89 =$
- $99 \times 2 =$
- $(100 - 1) \times 2 =$
- $101 - 69 =$
- $95 : 5 =$
- $21 \times 5 =$
- $1 + 3 + 5 + 7 + 9 =$
- $2 + 4 + 6 - 1 - 3 =$
- $11 + 13 - 10 =$
- $14 \times 5 - 70 =$
- $75 - (74 - 1) =$
- $217 : 7 =$
- $328 : 8 =$
- $17 \times 17 =$
- $13 \times 13 - 12 \times 12 =$
- $5 - 0 =$
- $0 \times (0 + 1) - 1 \times 5 \times 0 =$
- $3 \times 4 \times 5 =$
- $1 \times 2 \times 3 \times 4 =$
- $23 =$
- $1 + 45 - 1 =$
- $105 : 5 + 120 : 8 =$
- $15 \times 8 =$
- $14 + 15 \times 2 =$
- $(3 \times 2 + 1) \times 4 =$
- $(5 \times 2 - 3) \times 4 =$
- $77 : (4 + 7) =$
- $11 - 8 =$
- $12 - 4 + 5 =$
- $21 - 9 =$
- $101 - 7 =$
- $102 + 15 =$
- $1222 - 23 =$
- $12 \times 4 - 48 =$
- $1 + 3 \times 2 =$
- $51 : 3 =$
- $48 : 8 =$
- $63 : 7 =$
- $39 : (2 + 1) =$
- $25 \times 5 =$
- $22 \times 3 =$
- $41 - 5 =$
- $33 + 4 - 1 =$
- $72 : (8 + 0) =$
- $200 + 14 - 1 =$
- $33 + 0 - 1 =$

- $a + 4 = 7$   $a =$
- $a - 5 = 12$   $a =$
- $5a = 30$   $a =$
- $a : 4 = 16$   $a =$
- $a - 1 = 5$   $4a + 2 =$
- $4a = 20$   $5a - 5 =$
- $25 - a = 1$   $a =$
- $24 + b = 49$   $a + 2 - a =$
- $7.a + 1 = 15$   $a =$
- $8.a + 2 = 18$   $a - 1 =$
- $5 \times 4 - a = 18$   $a =$
- $4 \times a = 12 + a$   $a =$
- $a + a = 4$   $2 \times a =$
- $a + a + a = 33$   $a =$
- $5 - b = 1$   $b + 1 =$
- $4 = 3 + a$   $a + 3 =$
- $15 - a = 5$   $15 + a - 1 =$
- $5a - 4a = 25$   $a =$
- $b$  nin 3 fazlası 4  $b =$
- 3 ün a fazlası 5  $a =$
- 5 in a katı 35  $a =$
- $7 - (7 - a) = 2$   $a =$
- $11 - a = 8$   $a =$
- $a + b = 15$   $b + a =$
- $a + b + 3 = 12$   $a + b =$
- $a \times 4 = 36$   $5a =$
- $1 + 2 + 3 = a + 1$   $a =$
- $1 + a = 1$   $a =$
- $4 - 4 = c$   $c + 2 =$
- $120 : a = 4$   $a =$
- $130 : (a + 2) = 65$   $a =$
- $4 - k = 0$   $k + 3k =$
- $\odot + \odot = 44$   $\odot : 11 =$
- $3 \times \otimes = 36$   $\otimes =$
- $7 + 77 - 1 = a$   $a =$
- $5 - 5 + 7 = a + 1$   $a + 2 =$
- $\odot + \otimes = 45$   $\otimes + \odot - 3 =$
- $21 : a = 7$   $a : 3 =$
- $m \times 3 = 33$   $m + 2 =$
- $13 + (4 \times 3 - 1) = 25 - a$   $a =$
- $b + y = r + m$   $m + r =$
- $r + m + z = 21$   $z + m + r =$
- $345 - 300 = p$   $p + 3 =$
- $7 : a = 1$   $a =$
- $1 + 1 - 1 = a$   $a =$
- $(2 - a) - 1 = 0$   $a =$
- $225 = a \times a$   $a =$
- $a \times a \times a = 8$   $a =$
- $b \times b \times b = 64$   $b =$
- $7 + b = 12$   $b =$
- $12 - a = 11$   $a =$
- $11 + a = 11$   $a =$
- $25 - 24 - 1 = a$   $a =$